= BA 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'48.93
KE DK 3B | & | LT | 9~108% | 50mNNZ T A |'44.47
R FTE 3B | BI& | LT | 9~108% | 50mNNZ T Z A |'49.06
=i M= MR | A& | LT | 9~10% | 50mNN&Z T Z A |'47.95
ILIEHERY 3R | A& | LT | 9~108% | 50mNNZ T Z A |'40.26
B TR MR | A& | LT | 9~108% | 50mANZ T Z A |'43.29
Fit &2 MR | A& | LT | 9~108% | 50mNNZ T A |'46.26
Bl RBE MR | A& | T | 9~108% | 50mANx T A |'44.91
=R fEE MR | A& | LT | 9~10% | 50mNN&Z T Z A |'45.32
M EH N 3B | A& | LT | 9~108% | 50mNNZ T A |'44.38
A EF 3k | A& | TF | 9~10% | 50m/N&X T Z A | '45.55
W HME 3k | B | mF | 9~108 | 50m/~& 7 F A |'45.09
SEPETRE 3k | A | mF | 9~108 | 50m/~% 75 A |'48.60
HrE it 3k | A | TF | 9~105% | 50m/R&X 7 Z A |'44.05
Wl % 3k | B | mF | 9~108 | 50m~& 75 A |'47.98
r &HE 3R | A | BT | 9~108 | 50mNNKX 74 |'46.94
=FH BE 3k | A | &F | 9~10m | 50m~N&X 7 Z A |'42.16
W &HTF 3k | A | mF | 9~105 | 50mNN& 7 A |'42.44
MHEZR 3k | A | &F | 9~10m | 50m~NN&X 7 Z A ['36.18
afE X 3k | B | mF | 9~108 | 50mA& 75 A |'42.29
'R =2 3k | A | &F | 9~108 | 50m/N&X 7 Z A |'43.86
A HRT 3k | A | &F | 9~108 | 50m/N&X 7 Z A ['42.80
wA EE 3k | B | mF | 9~104 | 50m~N& 7 4 |'42.04
EHHE kit 3k | A | mF | 9~104 | 50m/~N& 7 F 4 |'40.84
T Bk 3R | A | T | 9~105% | 50mR&X 7 Z A |'41.45
R EFK 3k | B | mF | 9~108 | 50m~ & 75 A |'42.37
Hf EBEX 3k | A | mF | 9~108 | 50m/~N% 751 |'39.86
ok EHEERE 3B | A | &mF | 9~108 | 50mNNKX 7S A |'42.24
iIfE FE e | A | ZF | 9~10 | 50mANN&Z T Z A |'41.72
BINEEF 3k | A | &F | 9~10m | 50m/&X 7 F A |'43.28
BRABET 3k | A | T | 9~108 | 50m/N&X 7 F A |'43.48
A;N 3B | A | mF | 9~108 | 50m/NN&X 7 F 4 |'38.24
BFH e | B | ZF | 9~10/ | 50mAN&x 7 Z A |'41.79
B XA 3k | A | mF | 9~108 | 50m~NN&X 7 Z 4 ['43.21
NKRZ Z 3k | A | &F | 9~108 | 50m/&X 7 Z 4 ['41.80
THEA R 3k | A | wF | 9~105 | 50m/N&X 7 Z A |'40.98
BRIER  OE 3k | A | wF | 9~10m | 50m/N&X 7 Z 4 ['39.89
£2R B2 3k | A | mF | 9~105 | 50m/N&X 7 F A |'43.29




k¥ ImE 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'38.79
&F EF 3B | & | LT | 9~108% | 50mNNZ T A |'41.37
NE  Fk 3B | B& | LT | 9~108% | 50mNNx T A |'41.81
A & 3B | B8 | LT | 9~108% | 50mNN&Z T Z A |'40.72
e #%= 3R | A& | LT | 9~108% | 50mANx T A |'42.91
ARK HETE MR | A& | LT | 9~10% | 50mNN&Z T Z A |'40.52
TxbLbd SO R | A& | LT | 9~10% | 50mNNZ T Z A |'42.65
L =i 3R | A& | LT | 9~108% | 50mNNZ T Z A |'40.67
HARIEY 3R | A& | LT | 9~105% | 50mAN&Z T Z A |'39.39
K 3R | A& | LT | 9~108% | 50mNNZ T Z A |'40.17
ZH K2 3R | A& | LT | 9~108% | 50mANE T Z A |'39.27
AT & A7 MR | A& | LT | 9~108% | 50mAN&Z T Z A |'41.70
BB 8 3k | B | mF | 9~108 | 50m/~% 7 Z A |'40.07
®EE M= 3k | B | mF | 9~108 | 50m~ &7 F A |'37.20
el FEE 3k | A | TF | 9~105% | 50m&x 7 Z A ['39.12
B BE 3k | A | mF | 9~105 | 50m~N& 7 4 |'39.44
aH ®E 3k | A | mF | 9~105% | 50m/N& 7 Z 4 |'40.04
il #&F 3R | A | &mF | 9~108 | 50m/NN&X 7 Z 1 |'38.94
EE i B 3k | A | mF | 9~108 | 50m/~N&X 7 Z 4 ['39.31
MEE L2 3k | A | mF | 9~108 | 50m/% 7 F 1 |'39.08
Eea B 3k | A | mF | 9~104% | 50m~N&x 7 F 4 |'38.81
E2H v 3k | A | wF | 9~108 | 50m~N&X 7 Z 4 ['37.81
TIN5 3k | A | &F | 9~108 | 50m/N&X 7 Z A ['39.89
SE &M 3k | A | =F | 9~105% | 50m/R&X 7 Z A |['38.55
HH  EFR 3k | A | =T | 9~108 | 50m/N&X 7 Z A ['40.19
Him  EHK 3k | B | mF | 9~108 | 50m/~% 751 |'39.26
Hf & 3k | B | mF | 9~108 | 50m/~% 751 |'38.20
RARDE 3k | A | mF | 9~108 | 50m~N& 7T A |'39.22
B i 3k | A | T | 9~10m | 50m/N&X 7 Z 4 ['38.59
m=EEIEAFH e | A | ZF | 9~10 | 50mAN&Z 7 Z A |'39.12
TH BEX 3k | A | wF | 9~10m | 50m/N&X 7 Z 4 ['38.33
B8 FliE 3k | A | wF | 9~10m | 50m/N&X 7 Z 4 ['39.63
aiE "X 3k | A | T | 9~10m | 50m/&X 7 Z 4 ['36.78
mE = 3k | A | wF | 9~10m | 50m/N&X 7 Z 4 ['39.57
FiX BB¥ 3k | A | =F | 9~105% | 50m&x 7 F A ['37.15
J=H e e | B | ZF | 9~10 | 50mN&x 7 Z A |'38.27
g FTh 3k | A | &wF | 9~105 | 50m/N&X 7 Z 4 ['37.96
¥ WE 3k | A | =F | 9~105% | 50mR&x 7 F A |'36.75
mwH BE 3k | A | &wF | 9~10m | 50m~&X 7 Z 4 ['37.71




it BE B | B& | T | 9~108% | 50mANx T Z 4 |'39.01
FREER 3B | A& | LT | 9~108% | 50mNN&Z T Z A ['37.15
sulh H 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'36.89
MAAERHD T 3B | B& | T | 9~108% | 50mNNx T Z A |'37.31
i) T MR | A& | LT | 9~10% | 50mNN&Z T Z A |'38.22
i T& 3R | A& | LT | 9~108% | 50mNN&Z T Z A |'37.98
o HaTE 3B | A& | LT | 9~108% | 50mNNx T Z A |'37.23
mil &F MR | A& | LT | 9~108% | 50mNNZ T Z A |'37.60
piich=s I3 R | A& | LT | 9~108% | 50mNN&Z T Z A |'36.02
INRBFERF MR | A& | T | 9~105% | 50m/~N& T 4 |'35.34
3 5 MR | A& | LT | 9~10% | 50mNN&Z T Z A |'36.72
AR Fh MR | A& | LT | 9~108% | 50mNNZ T Z A |'36.46
INRB DA 3k | A | mF | 9~108 | 50m/~% 75 1 |'38.16
EH BR 3k | B | mF | 9~108 | 50m~% 75 A |'37.26
LsE  #&Th 3k | A | mF | 9~108 | 50m/~% 75 1 |'36.36
S & 3R | A | &F | 9~10m | 50m/N&X 7 Z A ['35.48
ek K1 3k | B | mF | 9~108 | 50m~% 7 F 1 |'36.20
e 3R | A | wF | 9~10m | 50m/NN&X 7 Z A ['36.56
B BF 3k | A | mF | 9~105% | 50m~N& 7 F 1 |'36.14
FH &% 3k | A | TF | 9~105% | 50m/&X 7 Z A |'36.35
) ) 3k | B | mF | 9~108 | 50m/~% 75 A |'35.23
LA BE 3k | A | &F | 9~10m | 50m/&X 7 Z A |'36.67
BE A 3k | B | mF | 9~104 | 50m~N& 75 A |'36.32
AL A 3k | B | mF | 9~108 | 50m~ %751 |'36.87
B R 3k | A& | mF | 9~104% | 50m/~N& 7 F 4 |'36.81
FERFEELR 3k | A | mF | 9~104 | 50m~N& 7 4 |'36.44
H L& 3k | A | wF | 9~108 | 50m/NN&X 7 Z 4 ['36.51
EBE AR 3k | B | mF | 9~10% | 50m/~N& 75 A |'36.55
BREMZY e | A | ZF | 9~10 | 50m/NN&Z 7 Z A |'35.52
SV 3k | A | &F | 9~108 | 50m/&X 7 Z 4 ['36.03
EH SME 3k | A | =F | 9~105% | 50m/R&X 7 F A |['35.95
MoK E e | AR | ZF | 9~10 | 50m~nN&x 7 Z 4 |'36.11
KR A 3k | A | &F | 9~10m | 50m/N&X 7 Z 4 ['35.39
BEE 0E 3k | A | &F | 9~10m | 50m/x&X 7 Z 4 ['00.00
BREFUHAT | 3k | 68| &F| 9~10/ | 50m~&Z 754 ['36.11
Al X e | AR | ZF | 9~10 | 50m~N&x 7 Z 4 |'36.31
NE B 3k | A | wF | 9~105 | 50m/N&X 7 F 4 |'34.56
Bk B 3k | A | =F | 9~105% | 50m/R& 7 F A |'34.35
AN IBE 3k | A | wF | 9~10m | 50m/~N&X 7 Z 4 ['33.91




S B | B8 | LT | 9~10% | 50mN&Z T Z A |'35.62
EAMEARE 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'34.19
EH KE 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'35.67
gL BE 3R | B8 | LT | 9~108% | 50m/~N&Z T Z A |'35.59
=RT AN MR | A& | LT | 9~10% | 50mNN&Z T Z A |'36.15
B]Re ER 3R | A& | T | 9~105% | 50mNN& T 4 |'34.64
EBE B 3B | A& | LT | 9~108% | 50mNNZ T Z A |'34.97
mAR 3R | A& | LT | 9~108% | 50mNN&x T Z A |'33.73
®EE EE 3R | A& | LT | 9~108% | 50m/~N&Z 7 Z A |'35.00
AE @ MR | A& | LT | 9~10% | 50mNN&Z T Z A ['32.95
hOpE7- & 18 3B | A& | LT | 9~108% | 50mNNZ T Z A |'34.16
BH OCX 3R | A& | LT | 9~108% | 50mNNZ T Z A |'33.67
FooOELL 3k | A | &F | 9~10m | 50m/N&X 7 Z A ['35.18
—R #4 3k | B | mF | 9~108 | 50m~& 751 |'33.69
g MR 3k | A | mF | 9~105% | 50m/~N& 7 F 4 |'33.51
ESIS X A 3k | A | mF | 9~108 | 50m~& 751 |'33.79
SH BT 3k | A | =F | 9~105% | 50m/&x 7 Z A ['31.85
BEROEY 3k | A | TF | 9~105% | 50m&x 7 Z A ['33.12
REFEE 3k | A | mF | 9~105% | 50m/~N& 7 F 4 |'33.51
B 2 3k | A | TF | 9~105% | 50m/&x 7 Z A ['33.75
28 21 3k | A | mF | 9~108 | 50m~% 754 |'33.99
RO Y 3k | A | mF | 9~108 | 50m~% 751 |'36.16
E BRI 3k | A | mF | 9~105 | 50mAN& T 4 |'42.81
BixEE4 & 3k | A | =T | 9~108 | 50m/N&X 7 Z A ['38.29
FHAEE 3k | A | mF | 9~104% | 50m~N& T 54 |'36.71
R X8 3k | A& | mF | 9~10% | 50m/~N% 75 A |'35.35
WD <% 3k | A | =F | 9~105% | 50m/& 7 Z A |'36.05
HEBRT 3k | B | mF | 9~108 | 50m~N& 75 A |'34.52
Bk % 3k | A | T | 9~10m | 50m/&X 7 Z 4 ['32.09
BH TbH 3k | A | &F | 9~108 | 50m/&X 7 Z 4 ['47.00
BA X 3k | A | &F | 9~10m | 50m/N&X 7 Z A |'48.98
BHE BR 3k | A | &mF | 9~108 | 50m/NN&X 7 F 4 |'52.44
e AL 3k | A | T | 9~10m | 50m/N&X 7 Z 4 ['48.30
== i B 3k | A | T | 9~108 | 50mNKX 7 A |'44.97
A EE e | B | ZF | 9~10 | 50mANNx 7 Z 4 |'47.04
B ELTF 3B | A | &mF | 9~108 | 50m/NN&X 7 A |'48.54
BHWA T 3k | A | wF | 9~105 | 50m/N&X 7 Z 4 |'49.66
®E B 3k | A | mF | 9~108 | 50m/N&X 7 F A |'45.68
A FE 3k | A | =T | 9~105% | 50m/R&X 7 F A |'45.82




BEX EE 3B | A& | LT | 9~108% | 50mNNZ T F A |'52.56
FE BX B | & | LT | 9~108% | 50mNNZ T Z A |'46.52
AN EF 3R | A& | LT | 9~108% | 50mNNZ T Z A |'57.60
X4 E 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'51.90
Y RRR 3R | A& | T | 9~108% | 50mANx T A |'43.61
=W HER 3R | A& | LT | 9~108% | 50mANZ T Z A |'49.09
A B | A& | T | 9~108% | 50mAN&x T 4 |'49.91
Bl K 3R | A& | T | 9~108% | 50mNNZ T Z A |'51.80
IRk O 3B | & | LT | 9~10% | 50mNN&Z T Z A |'47.65
B &5 MR | A& | T | 9~108% | 50mAN&x T A |'49.81
Al EE 3R | A& | T | 9~108% | 50mNN&x T Z A |'51.23
t E® MR | A& | LT | 9~108% | 50mNNZ T Z A |'45.36
WNEET 3k | A | mF | 9~105 | 50m~N& 7 A |'42.04
Wl FE 3k | B | mF | 9~108 | 50m/~N% 7 F A |'45.80
ERFIZA 3k | A | mF | 9~108 | 50m/N% 75 A | '45.66
)= S 3k | B | mF | 9~108 | 50m/~& 75 A |'47.68
B % 3k | A | wF | 9~10m | 50m~&X 7 Z A ['51.17
BlR =X 3k | A | mF | 9~105 | 50mNN& 7 A |'44.34
BH e 3R | A | mF | 9~108 | 50m/N&X 7 Z A ['43.99
wH  EF 3k | A | mF | 9~105 | 50mNN& 7 T A |'44.44
mHEHBE AR 3k | B | mF | 9~108 | 50m/N% 75 A |'45.06
RS FHH 3k | B | mF | 9~108 | 50m/~N% 7 5 A |'45.98
EHHZET 3k | A | =T | 9~108 | 50m/NN&X 7 Z A |'47.63
BE B 3k | A | mF | 9~104 | 50m/~N& 7 F A |'45.54
Hf & 3k | B | mF | 9~108 | 50m/~% 7 Z A |'43.00
AH I 3k | B | mF | 9~108 | 50mN & 75 A |'44.49
HEE WT 3k | A | BT | 9~108 | 50m/NKX 7 Z A ['42.59
ER KA 3k | A& | mF | 9~104% | 50m/~N& T F 4 |'45.81
sk METE 3k | A | &F | 9~10m | 50m/NKX 7 F A |'41.98
XFF HAEE 3k | A | T | 9~108 | 50mN&X 7 Z A |'42.96
FE ET 3k | A | wF | 9~10m | 50m/&X 7 Z A |'40.76
EHT AN e | B | ZF | 9~10/ | 50m~N&x 7 Z A |'51.37
AR E4 3k | A | =F | 9~105% | 50m/R&X 7 F A |'45.85
FH X%RE e | B | ZF | 9~10 | 50mANN&x 7 Z A | '44.27
EA EE 3k | A | T | 9~108 | 50mN&X 7 Z 4 |'48.11
Bl R 3k | A | &F | 9~10m | 50m/N&X 7 Z A |'43.97
EABFF 3k | A | T | 9~108 | 50m/N&X 7 A |'44.29
hNEE v M | B | T | 9~108% | 50mANN&X T F A |'45.72
ElES 3k | A | &wF | 9~108 | 50m~N K7 A |'47.73




BHARTEY 3B | & | LT | 9~108% | 50mNNZ T A |'42.43
N SRR 3B | B8 | LT | 9~10% | 50mNN&Z T Z A |'43.22
IR 3B | A& | LT | 9~108% | 50mNNZ T Z A |'39.53
B W= B | & | LT | 9~108% | 50mNZ T Z A |'44.92
A B B | & | LT | 9~108% | 50mNNR T Z A |'49.42
MTEEAL K 3B | A& | LT | 9~108% | 50mNNZ T A |'43.47
EHT AN MR | A& | T | 9~105% | 50m/NN& T 4 |'46.54
i 3 3R | A& | LT | 9~108% | 50mNNZ T A |'41.66
BH EX 3R | A& | LT | 9~108% | 50mNNZ T Z A |'40.43
afr fLz= 3B | A& | LT | 9~108% | 50mNNZ T A |'42.16
WE R3E MR | A& | LT | 9~108% | 50mNN&Z T Z A |'40.37
EB: 28 MR | A& | LT | 9~108% | 50mNNZ T Z A |'43.83
FR Xk 3k | A | TF | 9~105% | 50m/R&X 7 Z A |'45.02
FH - EAR 3R | A | T | 9~10m | 50m/NNKX 7 Z A |'43.43
RiE EF 3k | A | wF | 9~10m | 50m/NNKX 7 Z A |'41.83
NABER 3k | A | mF | 9~105% | 50m/~N& 7 F 4 |'40.54
AR FIR 3k | B | mF | 9~108 | 50m/~% 75 A |'43.16
HZRFEE Y 3k | A | mF | 9~105% | 50mNN& T T4 |'42.21
wEH R 3k | B | mF | 9~108 | 50m~& 7 F A |'43.90
Ll BX 3k | B | mF | 9~108 | 50m/~% 7 F A |'40.26
M IR 3R | A | T | 9~105% | 50mRK 7 A |'44.12
2 B 3k | B | mF | 9~108 | 50mNN& 7S A | '42.77
&b ZEXK 3k | B | mF | 9~108 | 50m/~% 7 Z A |'40.07
AR 3k | A | mF | 9~104 | 50m~N& T 4 |'41.51
BH O EY 3k | B | mF | 9~108 | 50mNN& 7 T A |'42.44
=SITEQD ) 3k | B | mF | 9~108 | 50m~ & 7 F A |'42.07
He &7 3k | B | mF | 9~108 | 50mNN& 7T A |'42.65
=ik B 3k | B | mF | 9~108 | 50m~% 75 A |'41.88
HERE S e | AR | ZF | 9~10 | 50mnN&x 7 Z 4 |'41.51
i O 3B | A | &mF | 9~108 | 50mNN&X 7 Z 4 |'40.84
FiE E£F 3k | A | T | 9~10m | 50m~&X 7 F A |'42.83
iRz 3k | A | T | 9~10m | 50m/N&X 7 Z A |'40.49
Hr B 3B | A | mF | 9~108 | 50mNNKX 7S A |'42.44
g EF 3k | A | =F | 9~105% | 50m/R&X 7 F A |'40.85
XE EHE 3k | A | T | 9~10m | 50mN&X 7 F A |'41.89
YOIz % e | B | ZF | 9~10 | 50mANNx 7 Z 4 |'40.74
ELO R 3k | A | =T | 9~105% | 50m/R&x 7 F A |'41.95
Kl K2 3k | A | mF | 9~105 | 50m/&X 7 Z 4 |'40.76
EA EE 3k | A | T | 9~108 | 50m/&X 74 |'41.49




=D 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'39.39
st .5 3R | & | LT | 9~108% | 50mNNZ T Z A |'39.07
R TE 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'40.13
A =D 3R | B8 | LT | 9~108% | 50mNNZ T Z A |'39.20
KA WE MR | A& | LT | 9~108% | 50m/ANZ T Z A |'40.93
EiE 3R | A& | LT | 9~105% | 50mANZ T Z A |'39.40
kAR 3B | A& | LT | 9~108% | 50mNN&Z T Z A |'39.89
B =i 3k | A& | TF | 9~10% | 50m/NN&X T Z A |'38.75
MLFEE 3R | A& | LT | 9~108% | 50m/~N&Z T Z A |'40.00
JIih 75 72 3R | A& | T | 9~105% | 50m/~N& T 4 |'40.94
EEE BX MR | A& | LT | 9~108% | 50m/AN&Z T Z A |'40.03
= BE 3R | A& | T | 9~105% | 50m/AN& T 4 |'39.94
mih = 3k | B | mF | 9~108 | 50m~ %754 |'37.17
= T 3k | A | TF | 9~105% | 50m/&X 7 Z A |'36.62
AR MK 3k | A | mF | 9~108 | 50m/% 7 F A |'39.59
kA ¥ 3k | A | mF | 9~105 | 50m/~N& 7 F 4 |'40.34
XE HBE 3k | A | mF | 9~105 | 50m~N& 7 4 |'37.44
SV S L) 3k | A | mF | 9~108 | 50m/N% 75 A |'39.43
=H ZEE5 3k | A | mF | 9~108 | 50m/N% 7 F A |'40.20
AR R 3k | B | mF | 9~108 | 50m~ %7 F A |'37.67
BRI &I 3k | A | mF | 9~108 | 50m~ %7 F 4 |'37.07
e &K 3k | B | mF | 9~108 | 50m~N& 75 A |'36.42
KA Bk 3k | B | mF | 9~108 | 50m~ %754 |'37.16
ETH ¥ 3k | B | mF | 9~108 | 50m/~% 75 1 |'36.58
BB BAK 3k | B | mF | 9~108 | 50m/~N% 75 A |'35.99
gk B 3k | A | mF | 9~104% | 50m/~N& 7 F 4 |'36.91
At B 3k | B | mF | 9~108 | 50m/~% 754 |'39.13
LA e 3k | A | mF | 9~108 | 50m/~% 75 A |'35.73
AR B 3k | A | &F | 9~10m | 50m/N&X 7 Z A ['35.26
SFHHEEM 3k | A | =T | 9~105% | 50mR&x 7 F A ['32.75
R 2 e | B | ZF | 9~10 | 50mNN&x 7 Z 4 |'33.34
N #A 3k | A | T | 9~10m | 50m/N&X 7 Z A ['34.40
2z BR 3k | A | &F | 9~105 | 50m/N&X 7 Z A |'35.08
e K7 3k | A | &mF | 9~108 | 50mNN&X 74 |'37.64




